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1 R e PESE I 155, 000 116, 319 38, 681
2 BN 35, 720, 000 35, 330, 000 390, 000
3 FHIA 28, 149, 000 28,199, 688 A 50, 688
4 AHAENA 231, 000 236, 115 A 5,115
5 HMEA 28, 000 243, 356 A 215, 356
6 fliXFt72 5 DA SIA 39, 341, 000 33, 407, 355 5,933, 645
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1 F3EH S 102, 958, 000 88, 255, 558 14,702, 442
2 fRF~ DA 20, 471, 000 18, 152, 922 2,318,078
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BB HEIAGE (d) 7, 888, 000 1, 110, 000 6, 778, 000
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1 R AE B PRI 132, 000 114, 598 17, 402
2 [l S S 2,000 0 2,000
3 U — ARSI 604, 000 603, 564 436
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TIPS SRR (j)+(k) 10, 389, 000 14, 559, 632 A 4,170,632




